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QUESTION 1

How are records marked for deletion?

A. Vertica removes the file that stores the deleted data.

B. Vertica rewrites the files that contained the deleted records, ignoring records to be deleted.
C. Vertica deletes the records from the original source files.

D. Vertica creates a delete vector, identifying records to be deleted.

Correct Answer: D

QUESTION 2

What can be used to determine memory resources needed by a query?
A. Generate an EXPLAIN plan on the query.

B. Review the digraph of the query.

C. PROFILE the query.

D. Run the query and view the information in the results.

Correct Answer: C

QUESTION 3

What is the WOS?

A. a redundant copy of commonly read data, cached in memory

B. a column-store, disk-based method for storing data in Vertica

C. a redundant write-only location used to improve node uptime

D. a row-store, memory-based method for adding data to Vertica

Correct Answer: D

QUESTION 4
What are the benefits of ordering data in projection design? (Select two.)
A. It enables optimum encoding.

B. It enables partitioning of data.
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C. It enables efficient sharing of data between similarly-ordered projections.
D. It enables efficient application of query predicates.
E. It enables segmentation of data.

Correct Answer: DE

QUESTION 5

How does Vertica implement high availability in a clustered environment?
A. full replicas of fact tables and segmented dimension tables

B. full replicas of all data on all nodes

C. built-in redundancy of data

D. continuous mirroring of data

Correct Answer: A
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